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Shall we say; we have learnt an anonymous Mishnah not like »''.

OVERVIEW

The 71wn stated that all craftsmen (7°32IX) are considered like 75w > w. The X n)
asked; ‘shall we assume that our 71w is not like »"9, who maintains that a 221w (a
renter) is like a 011 MY’ (not like a w"w). Our NBOIN explains the comparison of
an 7K to a 1w’
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The X723 compares an 12X to a 92w; for just as an 2N is a w''w -
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Even though he is not receiving payment for watching the item, but rather he
is receiving payment for his toil in doing his job -
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Similarly here too the 92y should be considered as a w''w, even though he is

not receiving payment for guarding the rented item -
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Rather since he is deriving benefit from the item through the rent which he
pays, he should be considered a w"w (for the derived benefit).

SUMMARY
A mutually beneficial exchange renders one a 72w mw.

THINKING IT OVER
According to »" that a 99w is like a 1", what should an 1'% be considered? Why?*

" We must say that our %3 assumes that the 72 and 197 are the same, for otherwise what is the s'X73 question;
the 7awn states that an 12X (not a 121) is a W"w, and n"" states that a 12w (not an 12X) is a 11"w. The difficulty with
this comparison is that an MR does not pay anything to the owner, but he receives payment, therefore he is
comparable to a w"w who also does not pay anything to the 2">wn, but receives payment. However a 10w pays the
7°5wn and does not receive any payment in return, which is the exact opposite of the v"w.

? The cleaner, for instance, is not getting paid for watching the laundry, but rather for his work cleaning the laundry,
and nevertheless the 71wn considers him a ¥"w; one who is getting paid for guarding the item, since there is an
exchange of benefits. The 12X receives money and the owner has clean clothes; they both benefit.

3 n1pown answer is that whenever there is an exchange between the owner and the 72X, or 121w, where both
parties benefit from the arrangement, the 21X ,7mW or 12w are considered w"w. It is irrelevant whether the payment
from the owner is for watching or not. [If the owner would not benefit, it would be 7X@ (which is 70182 2°), if
only the owner benefits, it is a case of a 011 W (where he is 21 only for 7¥°wd).]

* See ywim .
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